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QUESTION 1

Which one of the following programs contains a syntax error?

A. proc sql; select product.*, cost.unitcost, sales.quantity from product p, cost c, sales s where p.item = c.item and
B. item = s.item; quit;

C. proc sql; select product.*, cost.unitcost, sales.quantity from product, cost, sales where product.item = cost.item and
product.item = sales.item; quit;

D. proc sql; select p.*, c.unitcost, s.quantity from product as p, cost as c, sales as s where p.item = c.item and
E. item = s.item; quit;

F. proc sql; select p.*, c.unitcost, s.quantity from product, cost, sales where product.item = cost.item and product.item =
sales.item; quit;

Correct Answer: D

QUESTION 2

Given the following SAS data set ONE:
ONE COUNTRY CITY VISIT

USA BOSTON 10

UK LONDON 5

USA DALLAS 10

UK MARLOW 10

USA BOSTON 20

UK LONDON 15

USA DALLAS 10

The following SAS program is submitted:
proc sql;

select country, city, sum(visit) as TOTAL
from one group by country, city

order by country, total desc;

quit;

Which one of the following reports is generated?
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A. COUNTRY CITY TOTAL
UK MARLOW 10

UK LONDON 20

USA BOSTON 50

USA DALLAS 20

B. COUNTRY CITY TOTAL
UK LONDON 20

UK MARLOW 10

USA BOSTON 50

USA DALLAS 20

C. COUNTRY CITY TOTAL
USA BOSTON 50 D. COUNTRY CITY TOTAL
UK MARLOW 10

UK LONDON 20

USA DALLAS 20

USA BOSTON 50

Correct Answer: B

QUESTION 3

The following SAS program is submitted:

proc sort data = sales tagsort;

by month year;

run;

Which of the following resource(s) is the TAGSORT option reducing?
A. I/O usage only

B. CPU usage only

C. /0 and CPU usage

D. temporary disk usage
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Correct Answer: D

QUESTION 4

Given the following SAS data set ONE:
ONE DIVISION SALES

A 1234

A 3654

B 5678

The following SAS program is submitted:
data _null_;

set one;

by division;

if first.division then

call symput(\W'mfirst\\',sales);

if last.division then

call symput(\\'mlast\\',sales);

run;

Which one of the following is the value of the macro variable MFIRST when the above program finishes execution?
A. null

B. 1234

C. 3654

D. 5678

Correct Answer: D

QUESTION 5

The following SAS program is submitted:
data two;

y = W2\,
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run;
%let x = 10;

%let var = y;

data one;

set two (keep = andvar);

z = andvar * andx;

run;

Which one of the following is the value of the variable Z when the program finishes execution?
A. _ERROR_

B. 20 (as a numeric)

C. 20 (as a character)

D. . (missing numeric)

Correct Answer: B
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